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Question 1:

If Starbucks’s marketing department estimates the income elasticity of demand for

its coffee to be 2.6, how will the prospect of an economic boom (expected to increase
consumers’ incomes by 6 percent over the next year) impact the

g%f coffee
Starbucks expects to sell? Explain your answer.
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Question 3

The cross-price elasticity value is listed in the table below.

Products Products A and B—l

' q Ts.7
“Based on the above tablgA and B are substitutes” Is the previous statement
correct? Explain.
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Market Structure

Perfect Monopolistic
Characteristics competition competition Oligopoly Monopoly
Number of firms Many Many Few One
in industry
Product |dentical Differentiated Either identical No close substitutes
or differentiated
Barrierstoentry None None Moderate High
~ Firm's control None Some Considerable Considerable or
* over price regulated
Concentration ratio 0 Low High 100
HHI (approx. ranges) Less than 100 101 to 999 More than 1,000 10,000
Examples Wheat, corn Food, clothing Automobiles, cereals Local water supply
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Lucy’s Lasagna is aprice taker that has | C
the following costs: _“\0' irm hS

Output Total cost ND ak‘\‘.\ 3
(plates (doMars (
per hour) per hour) Poww )
0 5
1 20 Lo d\qnge |
2 26 rice.
3 35 —"v\e ‘)
4 46 (\)ncc S Conskadt
5 .59 5 Y ]‘
If lasagna sells fof $7.50 a plate, what is Lucy’s profit-maximiziné
p +Q
Max rule Erofit

ATR 4_@ ._a, ATC
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Margina Cost and Average Costs

« Marginal cost (MC) 1s the increase in total cost that

results from a one-unit increase in output.
« Average fixed cost (AFC)1s total fixed cost per _£C

umit of ou@ut.

« Average variable cost (4/C) s total vanable costs

per unit of output.

« Average total cost (A7C) is the total cost per unit
of output. ATC = AFC + AVC.
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“'é";’,’,‘}?f Fixed | Variable | Total | Average m%: Average | Margwal | _o
cost coslt cost ﬁxqj cost — total cost cost gc—i
Labor | Output |)(dollars) | (dollars) (dollars) | (dollars) (dollars) | (dollars)
| (dollars)
0 0y 50 0 5
9 Ny
1 107: 50 100 | 150 500 1000 1500 | ¥
| 5.00
2 30 50 200 250 | 66 667 | 833
| 1667
W36 50 300 | 350 139 8§33 | 972
Long-Run Cost

In the long run, a firm can vary the level of all resources so

both labor and capital are variable inputs. As a resul
long run all costs are variable costs

becosse 1w the tonl run
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Diseconomies of scale refer to the negative effects (decreasing returns) that can occur

when a company grows too large and becomes inefficient. These negative effects can
result in higher long run average costs (LRAC) and reduced profitability.
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Perfectly Competitive Industry Pure Monopoly

Price ($)

Price ($) A
A

MC
S=MC

D=AR

>

Qpc 'Quantity 0 O,m Qpe Quantity

Source: https://economics-tuition.sg/monopoly-efficiency/

Readings:

“If you are a firm, and you need to make one more unit of a good, then the cost to you of that good is
the marginal cost of that good. To make the good, you need to recover, at a minimum, your marginal
cost. Therefore, the supply curve IS the marginal cost curve" Source: https://www.e-
education,psu.edu/ebf200/node/238#:™:text=Wel|%2C%20if%20you%20are%20a,1S%20the%20marginal
%20cost%20curve.

The marginal cost curve is thus not the supply curve for monopoly. As a price maker that controls
the market, monopoly reacts to demand conditions, especially the price elasticity of demand, when
setting the price and corrésponding quantity produced. Source: "https://www.amosweb.com/cgi-
bin/awb_nav.pl?s=wpd&c=dsp&k=monopoly,+short-
run+supply+curve#:~:text=The%20marginal%20cost%20curve%20is,price%20and%20corresponding%20
quantity%20produced."



Exampic 8-

Slepl el Slep3

)

= g’ r—(‘lo X O) ‘z_o)q, o
_; 13 o« 1 7-1)3* y \2 i

| |
ol I T 'L"‘)L; T 3
S| W 2 204 A° (o 6

s 2 )z i
OCS_ 2 % (U uo b 10

= L N ,
L, o 5 g5 L5 <2 'S

MQ '\3 *’w'\ce
e s\cv(:e,d o

dexvorn
Curve?

[PETE LSNP P PR - ,_o\
W = (a@ - lof51> * Q?J/
4TR x
EMQ = a-2bQ Tncome
M?— %\ore is kwice dhe S\opeoedmd Curve ! B\OF' = %
L
3% — 57(— éxmp\e 8-
3 2 Blope 0.5
x > gx T 2L =41 unmt

T — 1 b ye-omsuwit



Ta LA

12. The following table shows quantity (Q), total cost (TC), and average total cost (ATC) for the three

firms: M
/_\ Firm A kFirm/d , Firm C

4 1y¢ Coneny,
€<°V\"“‘“‘ uantity T bliRTalliTCliATc I iTe AT Disecnns
oA O4 1 s 360l 60| s11] &11] a1l 6ok
Semite b i T e B B B e, Sdaghe
Q; 3] 8011026, 7030 I 3| eiag
Qu 4 P s R Q /ﬁq‘(
gs 5 100]1ilD0 75} 15{] 85
c6 110]1183] o6 | 16l 10g i\ M o
0L —>Q Qz7 120] 17.1] 119 " 17] 120] FSEEL. E(‘y\ :

S¢
'DR*Z.Q'\N\-\;:\I& S¢d ¢ Q)\'B\o Q* Q1JS-‘D Q:‘l; :

Firm A has economies of scale because average total cost declines as output increases. Firm B has
diseconomies of scale because average total cost rises as output rises. Firm C has economies of

scale from one to three units of output and diseconomies of scale for levels of output beyond three
unit§.|

Market Structure

Perfect Monopolistic >
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MEASURES OF
CONCENTRATION

There are two measures of market concentration: < ia \"'

« The four-firm concentration ratio is the percentage of the value of
salesaccounted for by the four largesi-fems inthewndustzy. The four-firm
concentration ratio ranges between near 0 (extremely competitive) to 100
(not very competitive). More specifically, If CR4 is less than 60%, then
the market is competitive

Notes:

(HIf a firm has a markel share 50 to 90 percent, this fim is called
dominant firm.
(2)If market share at or near 100 percent, this firm is a monopoly.

e The Herfindahl-Hirschman index (HHI) is the square of the
percentage market share of each firm summed over the largest 50 firms (or
summed over all the firms if there are fewer than 50) in a market. The HHI
ranges between near 0 (extremely competitive) to 10,000 (a monopoly).

e The U.S. Justice Department uses the HHI to classify markets:

e Markets with an HHI of less than 1,000 are regarded as highly
compelitive

e Markets with an HHI of between 1,000 and 1,800 are regarded as
moderately competitive.

» Markets with an HHI above 1,800 are regarded as concentrated.

e Four Pirm Concentration rotio

“The Her‘Cinal hl = Hirschmom Tndex (HH1)

Problems:
(1) Sales of the firms in the pet food industry are:
Sales(thousands of dollars)
Big Collar, Inc.e 50
. \ar%u}
Shiny Coat, Inc.p 75
Friendly Pet, Inc.tirms(*60

Tis in the exam  Nature'sWay, Inc. (65 CRU = go+76 46045 o :
Changed 50+ 35460+ (5+U0
- Can Srarges ., Other 8 firms 400
iy RS Calculate the four-firm concentration ratio. Markek is
Suls 24 b. What is the structure of the industry? cmpek'-*'-":_ e
O perbect compory —> Movopdlisti
Less thown 607 Monoplisti€ Company Compekition

(2) Market shares of mat makers are:
Market share (percent)
Made-to-Last, Inc. (20)° = Uoe
BgWheel, Inc.  (17)° = 23
Magic Carpet, Inc. (22)" = %" ) we adl thewn
Supreme, Inc. (1731 = 232
Copra, Inc. 24)t = 5%
a. Calculate the Herfindahl-Hirschman Index. "~ = 2038 —>%#1
b. What is the structure of the industry?

< ="
“The workek is Oliqopsty

. T(f = \o/ooa ) Monv‘;a\g



The Equilibrium without Trade

Price of

Textiles
Domestic
T le wh
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wih
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Compy W Domestic
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The World Price and Comparative Advantage

* Py, = the world price of a good
* P, = domestic price without trade.
* If Pp< Py,

» country has comparative advantage in the good.
» under free trade, country exports the good.

. If PD > Pw,
» country does not have comparative advantage.
» under free trade, country imports the good.

9» =5 The t/ooru PV‘\C.C
('PD => The c)omﬁc Prﬁt‘.e. without drede

\ess
it P < Pw
CMMV‘j e"‘P”""S the %°°'-‘1=> Kook cxPorJ's Gi\ Gor obhers
it P < Po
Covwd'rl_/s '\\Mpoﬂ's the t’dom":b Kook impmﬁing cors Peom obhers
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The Gains and Losses of an Exporting Country
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The Gains and Losses of an Exporting Country
\w ey
% Before Trade After Trade Change
it
Condumer Surplus A+l A e 4 PN
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The area D shows the incresse In total
_/
= | gurplus and represents tha gains from trade
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The Gains and Losses of an{mporting Country
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Price Word e
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demand
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quanltity Quantity Textiles
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The Gains and Losses of an Importing Country

Before Trade After Trade Change \}\J\ n N Q/D’
Consumer Surplus A A+B+D +B+D) '_‘Q

Producer Surplus B+C C B —p ‘ 0S Qr
Total Surplus A+B+C A+B+C+D +D

The area D shows the increase in total
surplus and represents the gains from trade.




Active Learning 1
Analysis of trade

Without trade,

P, = $3,000, Q = 400

In world markets,

P, = $1,500

1. Under free trade, how
many TVs will the
country import?
2.Identify CS, PS, and

total surplus without
trade, and with trade.

For wia with Arincipks of

Active Learning 1
Answers

46 by N Gragory Manikuw and

$3,000

$1,500

Under free trade,

* domestic
consumers
demand 600

* domestic
producers
supply 200

* imports =400

For wia with Principhs of

Active Learning 1

Answers

$3000

$1500

D

Imports

Q

Som—
Qrodwee” oNSnOr

40 by N Gragory Mankiw and Mobamed H. Rachwan (3781473774926) © 2002 Congags Loarming

Without trade,
CS=A
PS=B+C
Total surplus
=A+B+C
With trade,
CS=A+B+D
PS=C
Total surplus
=A+B+C+D

For us with Arincipke of

e TVs
S
P
Gains from
trade
$3,000 —————
B
$1,500
= Imports b

40 by N Gregory Mankow and Mohamed H. Rachwan (3781473774926) © 2002 Congage Learming

11



Two (Pﬁnciflez. ol Economies

v

Governmenks can Somelimet

improve market outcomes

. M: are a ﬁorm ol morket Pailure-the uncompensabed

.lm‘aud' ol one pevsons ockion on dhe well-beng of bﬂs’mm'm
Y
aflected bul
wol take

o€

I_) Nesa&."/e Exermp \e g po“ul"\o‘ﬂ PM

Externalitiex can be

)Tec.\nno\ogwﬁ
S overs

— wtive
—— oL, PO% E ducallionl=More people educated

Weaning other Wnan iks K,r‘\me} robe Tlv\e-m\nd \obers

it encorage people to ke more educoled L
P(oduce}r or Consumer encormae gpuertment o Subsidy the educsbion

=5 Innovative & well educale)

1D educabion ~ Sros 1 e, puivive people recve Nighh woges

cx«\a—mlil:uw

Wolfare Economies : A Recape

-_M'.’« mark e ea{/u/}iilor\iwvz Mmaxmizes ConSwwmer % Pmofuer S plug .
-_WL_C %uﬁag Curve GL\OWE (Prival-c cost— ‘W:COSFS direc'-,}j ncwrred bﬂ cellers.

°Demana’ Curve Shawr (Privaﬂ-c VtJu.c—‘Vv\e value Lo lauﬂdcrs (dhe Price,g %ajwre willing to ‘o'uj)



Negative Externalities

Example: Aluminum factories emitting pollution

Price of |

Aluminum | Sodial cost T %W\G |<E 2
(private cost and

extemal cost)

THeatth risk.
Q optimoin

Optimum —>»

i Equilibrium

s smaldex
; Yhen
; ' \pvssza‘:wa a MM\LC/"
Qo Qo i
il
_\.mPoS\ng'\'a‘Leg 8 Mo ok e dhe Produucexs toke mlo account e extervod effect
on Proclucexs ol thei~ ackions.

Positive externalities

it encorage people o e more educoled L
Example: Education encornge. gpuertment fo Subeidy dhe. educabion

Price of TD educabion => Shows W dhe positive
Education thrnufﬂibs%mph

Supply
(private cost)

External

benefit ~__ Optimum

Equilibrium —
H Social value (private

value and extemal
benefit)

Demand
(private value)

0 Qhareer Qopmmum Quantity of
Education

ositive externalitie

1w the Presence ol o positive externality , the Sociel volue o good) includess
CPrivele value — Yhe direck volue to buyers
- External benefit = dhe value of the positive impack
TThe Socially,  optinnal Mmaximizes walPare :

« At any lower (), the sociof volue o odditioncd units exeeds dhew cost -
o Bt any igher( "), the Cost ol dne \oat unit exceds Ws Socied value .



Figure 10-3

Price

TECHNOLOGY SPILLOVERS AND
of Robot

THE SOCIAL OPTIMUM. In the
presence of a positive externality
to production, the social cost of

Supply (private cost)

Value of
technology

. Social cost
spillover

producing robots is less than the
private cost. The optimal quantity Equilibrium —
of robots, Qoprivuwm, is therefore
larger than the equilibrium

quantity, Quarket-

—— Optimum

Demand
(private value)

0 Qumarker  Qoprivum Quantity
of Robots

Robots are at the frontier of a rapidly changing technology. Whenever a firm
builds a robot, there is some chance that it will discover a new and better design.
This new design will benefit not only this firm but society as a whole because the
design will enter society’s pool of technological knowledge. This type of positive
externality is called a technology spillover.

'\)raJucing more
roloot-<

Qocicty as a, lhole will bemelit
We %odexnmem@- Cam nternalize

the externality by Suksidizing Yhe produckion ok robots
v
: 0 d%é Will moke e worket equilibrium closer
lcorred' ve Suks Lodine <ocial optimumn QL mowrkel =>Q optioawn

N7
/’\Q '(’Zo‘oo'('

A subsidy a sum of money granted by the state or a
public body to help an industry or business
keep the price of a commodity or service low.

Two Ways of Price Discriminating
Firms price discriminate in two broad ways. They

discriminate:

= Among groups of buyers
= Among units of a good
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Firms price discriminate in two broad ways. They
discriminate:

= Among groups of buyers

MC

2' 100 Increased economic

profit from price
discrimination

= Among units of a good
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D. Perfect Price Discrimination FIGURE 12.10  Perfect Price

1. Perfect price discrimination occurs if Discrimination
a firm is.ahle to sell each unit of

=
output for the highest price anyone £ 2100 MC arc
: 38 : -9 Increase in economic
is willing to pay for it. The outcome 2 o e lasre
of perfect price discrimination is 3 1800 A\ |price discrimination
characterized by: 3 \
. . £ 1,500 = \

a) Economic profit increases \

above that earned by a single- 1,200 \

price monopoly firm.

b) Output increases to the
quantity at which P = MC.

c) Deadweight loss is eliminated.

- Incr
2. Figure 12.10 shows the outcome of %00 A; in ovlput o
perfect price discrimination. : :

900

600

: L L
0 5 8 1 15 20
Trips (thousands per year)

E. Efficiency and Rent Seeking with Price
Discrimination

1. The more perfectly a monopoly can price discriminate, the closer its output gets to
the competitive output where P = MC and the outcome is more efficient.

2. However, this outcome differs from the outcome of perfect competition in two
important ways:
a) The monopoly firm captures the entire consumer surplus.

b) The increase in economic profit attracts even more rent-seeking activity that
leads to an inefficient use of resources for society.

With perfect price discrimination, output increases
to the point at which price equals marginal cost. This
output is identical to that of perfect competition.

Economics in Action

Attempting Perfect Price Discrimination

If you want to spend a day at Disney World in Orlando, _> —

it will cost you $99. You can spend a second consecutive Q P - — C
day for an extra $89. A third day will cost you $86. But Q/—N
for a fourth day, you'll pay only $20 and for more days

all the way up to 10, you'll pay only $10 a day. Mzo‘- Code'i .‘ o

The Disney Corporation hopes that it has read your
willingness to pay correctly and not left you with too

much consumer surplus. =\ &L:\ \_}S.'\ \‘g\_ﬁ g_é/‘(j\":'g\ @99\ [ dg g Mbj_l\
LM ?'JJ\ (@4

High price for op Dwsi +ickit price => $9

to 3 days extracts
80e consumer surplus
E;E?Ef“uz%, ] L.: U +icksd Pr';ce_ =5 $ \0

4 5 6 7 8 9 10

Days spent at Disney World

100e

o
o

IS
o

20

Price of ticket (dollars perday)

o
[ ]

Disney’s Ticket Prices



Antitrust Law regulates oligopoly firms and prevents them from behaving like
monopolies.

Example:

Microsoft has violated European Union antitrust laws by bundling Teams with its
other popular applications for businesses, EU officials said Tuesday, marking the
bloc’s latest challenge to a US tech giant.

Slack (rival) alleged that Microsoft (MSFT) had given Teams, which offers
messaging, calling and video meetings, an unfair advantage by automatically
including it with its Office software and thereby denying Slack an opportunity to
compete on a level playing field.

According to the Commission, Microsoft has been forcing customers to acquire
Teams by automatically including the tool in its Office 365 and Microsoft 365
suites.

If confirmed, the preliminary findings of an EU investigation could lead to a fine
of up to10% nf Microsoft’s global revenue, which totaled $211 billion in its latest
financial year.

From <https://edition.cnn.com/2024/06/25/tech/microsoft-teams-eu-antitrust/
index.html>

May 16, 2025 (Reuters) - Microsoft (MSFT.O), opens new tab has offered to make
its Office product without Teams cheaper than when sold with Teams, EU
antitrust regulators said on Friday, which could spare the company a big fine and
ease tensions with the United States. The European Commission said it would
seek feedback from rivals and customers before deciding whether to accept the
offer.

From <https://Iwww.reuters.com/sustainability/boards-policy-regulation/microsoft-
offers-sell-office-with-teams-lower-price-eu-antitrust-probe-2025-05-16/>
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